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End Semester Examination of Semester—III, 2015
Subject : PHILOSOPHY (HONS.)
Paper : VII
Full Marks : 40
Time : 2 Hrs

The figures in the margin indicate the marks
corresponding to the question

Candidates are requested to give their answers
in their own word as far as practicable.

Illustrate the answers wherever necessary

Group A

Answer any two questions of the following : 10x2=20

1. a) How does the concept of existential import effect upon
the view of traditional square of opposition? Explain
with example.

b) Express the following in terms of Boolean notations
and represents them by mean of Venn diagrams—

i) [Everything is non-eternal.
ii) Nothing is both bitter and sweet. 6+4

'2. What is an explanation? Explain and illustrate the criteria
for evaluating scientific explanations. 2+8



(2)

3. What is Mood?

Test the validity of the following arguments by means of
Venn diagram (any two) :

i) In all valid syllogism the middle term must be
distributed at least in one premise. Therefore this
syllogism is valid. Since in this syllogism the middle
term is distributed at least in one premise.

i) |A] - 2

iii) Since some people are poets, some poets are generous
because some people are generous. 2+8

4. Explain with example, following I. M. Copi, the Joint
method of Agreement and difference as a Scientific method
of induction. Discuss in brief how far this method is

successful in discovering causal connections. 6+4
Group B
Answer any two questions of the following : 5x2=10

5. What is Mixed-disjunctive Syllogism? What is the rule for
its validity? Judge the validity of the following argument:

Either the table is square or it is circle. The table is circular.
Therefore the table is not square. 2+2+1

6. If “All students are patriots” is false what may be inferred
about: 5

a) Some student are not non-patriots.
b) No patriots are non-students,



T
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Write short note on any one of the following:
o a) Different kinds of induction.

b) Hypothesis its formulation and deduction of
consequences.

8. Answer any one questiohs of the following:

a) What is the probability of getting either the King or
an ace of the Diamonds in drawmg a card from a deck
of playing cards?

b) What is the probability that in rolling two dice the total
number of points on the top face would be ‘9.

Group C

Answer any five questions of the following : 2x5=10

9. Are two propositions necessarily contradictory if one is
true and other is false? Justify.

10. The violation of what rule leads to existential following
in a syllogism? Give an example.

11. What is exclusive proposition?

12. Give an example of a third-order enthymeme.

13. What is Dilemma?

14. In what sense does Copi use the term ‘cause’?
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15.
16.
17.
18.

(4)

Why is argument by Analogy inductive?
What is meant by ‘Inductive Generalization’?
What is crucial experiment?

Compute the probability of getting four heads in a row
in throwing a coin for four times.
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